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[1] +�� [2] ' , 
�� ��
[3] � - �	 .
 �� [4] / � �0 ' 
��

  ��� Who propounded the 'Need 

Hierarchy Theory' of Motivation ? 

[1] Hull [2] Maslow 

[3] Atkinson [4] Thomson�

��� ����������� '��� 
�� 	�,�1
2� 3%�4�5� � "�	���
	2������ �2���� 6�� � +2�� +2�� +2�� +2� ��+,�*�
�
[1] �� 7�1
� +�%� � �
[2] � �4 % �8 � �� �
[3] � # �� � ���� � �
[4] 
 '�9 �' ���

  ��� Which of the following is not a 

projective technique of personality 

assessment ? 

[1] Word-association 

[2] Sentence completion 

[3] Expressive movement 

[4] Sociometry�
��� ����������� '��� 
�� 	�,�1
�� �	 � ��:�

"�������	 � � +2�� +2�� +2�� +2� ��+,�*�
[1] - ; �0 < 2 �	 � ���� �� �� � ��� �� 
�6��� � 	 � � ��
[2] � � �� � 	 � �� �� �� �, 	 � 2 �	 �� ��
[3] " � 5'
 � � � =-� +� � � 
' �9
 � �� �	 �� ��
[4] � 	 � �� � 2� �� � �� � � 	 �'  > ���� �� �

  ��� Which of the following is not an 
extrinsic motive ? 

[1] Competing in sport for trophy 

[2] Doing job for salary 

[3] Doing social service for self-
satisfaction 

[4] Buy one get one free�
!�� ���
���	� ".�����6�� �� 2��#� � � �?��/��%���� 	�� @@@@@�

' ���� +� �  � ��%� � �� '� � � �� �� 9� �� � +, � !�
[1] �  �( � [2] " � � ���' � ��
[3] " � � �� A� � �� [4] 3 %� 4� 5� �

  !�� Thematic Apperception Test is used 

to measure the ……….. of students. 

[1] Intelligence [2] Aptitude 

[3] Attitude [4] Personality�
"�� ����������� '�� � 
�� 	 �,� 1
�� 	 /��� 
'�%��9� �

	��
������'���
 +2� �+2��+2��+2��+2� � �+, � * �
[1] % +� " 
� �  �� �� 5�.� �	 � � �� +, !�
[2] % +� ��� �
/ � �� � 	 2 � ' �B ��� �� 	 � � "� C��

9 2� �� 	 �� � �2 	 �� 	 ��� � � ��� � 	 � � ����
�� � �� � �	 � � �� +,! �

[3] % +� �� �� �� # �� 	 2� � 
/ �� �% �� � � ' � � � � ��D � 2%�
��� � �� � �� �� � �	 2 � ��'� �� � � �� �+, !�

[4] 
 '�% �� 9 �� 	 � � " � � �� � '�� � 3%� 4� � �� �� �
" � , �� �� � �� �
 � �� E�� �� � +�� �+, !�

  "�� Which of the following statement is 
not correct with reference to 
adjustment ? 

[1] It creates imbalance. 

[2] It motivates to change the life as 
per the demand of the situation. 

[3] It gives ability to bring desirable 
changes in the conditions of 
environment. 

[4] In the absence of adjustment one 
is surrounded by tension and 
anxiety.�
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[1] 
 � �� � 21�� ��2% � �
[2] �8 � � 1
 � �& % �5' 	�
[3] ' 8 �� 1
� � & %� 5' 	� �
[4] " � , �� ��� 	 1
� � & %� 5' 	�

  #�� According to Piaget's cognitive 
development theory, the 'ability of 
reversibility' develops during which 
developmental stage ? 

[1] Sensory motor 

[2] Pre-operational  

[3] Concrete-operational  

[4] Formal-operational�

$�� ����������� '�� � 
� � 	�,�1
�� �'���� 
 +2� � +2�� +2�� +2�� +2� �
+,�*�

�� �4 
� � 	 � �' �� � 1��� �4 
� � 	 � �' �� � 1��� �4 
� � 	 � �' �� � 1��� �4 
� � 	 � �' �� � 1�

� '� �9	 � �� 	 � 
� 	 2
� '� �9	 � �� 	 � 
� 	 2
� '� �9	 � �� 	 � 
� 	 2
� '� �9	 � �� 	 � 
� 	 2 ����

" � 
/ ��� B" � 
/ ��� B" � 
/ ��� B" � 
/ ��� B ����

" � 
/ ��" � � � �	 ��" � 
/ ��" � � � �	 ��" � 
/ ��" � � � �	 ��" � 
/ ��" � � � �	 ��
& '& '& '& ' ����

[1] �+� � � �� '� " ��� 6��
� �� 6��

[2] �+� ��� � �� '� � �8 �' 	 ��

� � � � �� �� 

[3] 
� �%� � �� � � �� '�
�G9� � �� � ��� � 	 ��

[4] " 6% �
� %� � �� '�
+2� ���

1� � 2
� 2 �" � 
/ �� �
�
1� ��B � �2 �� " � 
/ ���
�
1� � +� 2� " �
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�
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  $�� Which of the following match is not 

correct ? 

Erikson's Stages of 

Psycho-social 

Development 

Serial 

Number of 

Stages 

[1] Initiative Vs Guilt 

�
[2] Identity Vs Role 

Confusion 

[3] Autonomy Vs 

Shame and Doubt�
[4] Industry Vs 

Inferiority�

� 1�Stage 3�
�
� 1�Stage 5�
�
� 1�Stage 1�
�
� 1�Stage 4�

�
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�� Which of the following elements is 

not related to Skinner's operant 

conditioning theory ? 

[1] Extinction 

[2] Discrimination 

[3] Spontaneous recovery 

[4] Reinforcement�

%�� ����������� '��� 
�� 	�,�1
�� 	 /��� "����A����
	��
������'���
 +2� �+2��+2��+2��+2� ��+,�* �
[1] "����A���� '��� "�������#��5'	 1�������� 5���	�

����� =���� ��H� �9��2� +,!�
[2] "����A���� �8#�� ��� 
	���5'	� 
�� �8#�� ���

�	���5'	 �+���
	�2 �+,!�
[3] "����A���� '��� 3%�4�1� 
� � 
���6�� ��%� �

9����+, !�
[4] "����A���� 9.'9��� ���� "�9��� ����� ���

+���2� +,!�

  %�� Which of the following statement is 

not correct with reference to Attitude ? 

[1] Attitude has motivational-

affective characteristics. 

[2] Attitude can range strongly 

positive to strongly negative. 

[3] Attitude have a subject-object 

relationship. 

[4] Attitude is innate and acquired 

both.�
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� 5��� � +, ! �
[2] � �	 � 
� � 	 � % �� A �I D 	 � �� �C�� " �  
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	 � � �� +,! �
[3] � �	 � 
� �	 �
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[4] � �	 � 
� 	 � � �� �� �.�� " �% �' � " .� 
� � �� � 6���
� +2 � �+, � !�

  �&�� Which of the following statement is 

correct about the development of 

children ? 

[1] Development is a product of 

only hereditary. 

[2] Development follows a random 

pattern. 

[3] Development is a cumulative 

process. 

[4] Different aspects of development 

are not interrelated.�

���� 	,-�� 	 �� 
�
J��� ' 4 �� � � (� ��2��#�K� �	�
��	��� +,�� �
[1] � , %� 4� 	 � ��� �7� 	 � �� 2 �� # �� 	 ��
[2] 
 �'8 � +	 ��� ��7 �	 � �� 2��# � �	� �
[3] " ��� �7� 	 � ��2 ��# �� 	 � �
[4] �� ��7� 	 � � �� � " ��� �7� 	 � �� 2 ��# �� 	 ��

  ���� Cattell's culture free test of 

intelligence is a type of : 

[1] Individual Verbal Test 

[2] Group Verbal Test 

[3] Non-Verbal Test 

[4] Verbal and Non-Verbal Test �

���� ����������� '��� 
�� 	 �,�1
2� 
A9��5'	��� 	2�
����� =���� �+2��+2��+2��+2� ��+,�* �
[1] ' �, � �	 � �� [2] � �� ��� 2�� ��
[3] " � �%� �� [4] 6 ��� ��� � �� +� � �

  ���� Which of the following is not a 

characteristic of creativity ? 

[1] Originality [2] Flexibility 

[3] Rigidity [4] Fluency�

���� ����������� '��� 
�� 	 �,� 1
�� 	��	 � �����#�1�
"�6��'� ���&%��	��� ������� �� �+2��+2��+2��+2� �	����+,�* �
[1] � ����	 � 	 � �� ����# � �	 �, ��� � �
[2] � ����	 � 	 � �' �� �
	 �
� �
/ %�
[3] � ����	 � 	 � �� �= �% �F ���
[4] � ����	 � 	 � ��� �� 2� �	 �C��

  ���� Which of the following factors does not 

affect the teaching-learning process ? 

[1] Teaching skill of teacher 

[2] Mental health of teacher   

[3] Subject knowledge of teacher 

[4] Physical appearance of teacher�

�!�� �A�(� �I����� '�� � �	
� ��	 ��� 	 �� ���� ���� ���2�
+,�*�
[1] 
 � �� �� 5'	 � �
[2] �� 	 �% �� 5 '	�
[3] 
 � �� �� 5'	 � � �� � ��	 �% �� 5 '	� � �� �� � ��
[4] H � '� � � 
� �	 �� H � ��+2� �

  �!�� What kind of changes does growth 

bring about in children ? 

[1] Structural 

[2] Functional 

[3] Structural and functional both 

[4] None of these�
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[1] �� �� � �� �� �� 2� �
[2] 6� 2' � �" � 6��'	 � ���
[3] " � 6��'� " 
' / ����
[4] ' � �� �  �(�

  �"�� 'Acceleration' is an important plan 

for education of which type of 

special children ? 

[1] Gifted 

[2] Slow learner 

[3] Learning disabled 

[4] Mentally retarded�

�#�� 	�%��5'	� ���� �(��� '��� "�6��'	���� 	 2�
��5%�	� 
+2� "� �&%�� 	�� � � ������� 	����
�	
���	 ���	2� � ������" � 
8�2�+,� * �
[1] � �� �� �� " � �� � ��
[2] ��� � �� � ��2� �" � � � ���
[3] � �� �� �� " � ��� �
[4] 
 �� �

  �#�� What type of reinforcement schedule 

is to reinforce each correct response of 

the learner, in operant conditioning ? 

[1] Fixed interval 

[2] Variable interval 

[3] Fixed ratio 

[4] Continuous�

�$�� $��	 �
� 9��� "� �,E%� � "��� L�
�� 
� � �,�M� 	2�
���� ��'���"�����NO�� �+,)K�	+�����+,� ��
�
[1] � 
< , � �	 1	 �0 P ���
[2] �� �0 � 4
 '� �� P
- ��
[3] 
 ��� �� �
[4] � A � �2 %�

  �$�� 'Development proceeds in the 

direction of longitudinal axis (head 

to foot)', called : 

[1] Cephalic-Caudal 

[2] Proximodistal 

[3] Spiral 

[4] Circular�

�
�� �	� ��	��� 	�� � �(� ��2��#�� 9+�B� �� �� �
	�Q��H�� 
��� 	 2� �A�=-� 
� � 
'��� +�� ��� +,�K�
�	.� � 
'%� �5�� 	��� "� 6�	� '+��� ��%��
9����+, ���
[1] ��� ��� 2 �� # �� �
[2] �� �4 �� �� 2 ��# � �
[3] �� ��7� 	 � �� 2��# � ��
[4] � �=��� � ��� 2��# � �

  �
�� A type of intelligence test in which 

the questions are similar in difficulty 

level but more importance is given to 

the time element : 

[1] Speed Test 

[2] Power Test 

[3] Verbal Test 

[4] Performance Test�

�%�� ����������� '��� 
�� 	�,�1
2� 3%�4�5� � "��	���
	2�3%�4���=Q�� ��6�� � +2�� +2�� +2�� +2� �+,�*�
[1] 
 ���� 5	 � �� �
[2] " � �� � 	 ��
[3] " � 5'	 / ��� �
[4] �� 7�� 
� +� %� �

  �%�� Which of the following is not a 
subjective method of personality 
assessment ? 

[1] Interview 

[2] Observation�
[3] Autobiography 

[4] Word Association�
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[3] " � �� � 	 �2 %� �� � .�� �" �� � � 	��
[4] " �� ��� �� �� � .�� �" �� � �	 ��

  �&�� Meenal is average in intelligence, 

low in creativity and high level in 

adjustment. This is an example of : 

[1] Inter Individual Differences 

[2] Intra Individual Differences 

[3] Observable Differences 

[4] Expected Differences�

���� ��8��� ��� ���	���� 	�� 
�F���5'	� ��	�
� +� �  �
�	
� ��	��� 	�� ��QR%& '� 	�� "� �'�� 	��

 S�����%��* �
[1] 
 '�� � ��2 ���QR%&'�
[2] � �� ��=- ���QR%&'�
[3] 
 ��� �� ��QR%&'�
[4] � 	 2J �� ��QR%&'�

  ���� Which type of curriculum did Bruner 

suggest to follow for the cognitive 

development of children ? 

[1] Inclusive curriculum 

[2] Special curriculum 

[3] Spiral curriculum 

[4] Integrated curriculum�

���� ��	�
� 	�� 
�'��9	1
��
J ��	 � �
(���� 	 ���
�	
�����	 �
���	%��* �
[1] � �% �� � 5
	 2 � �
[2] � �� 4 
� �
[3] 	 � � +R� ��� � �
[4] � � �0 � <� �� � � ���

  ���� Who developed the Socio-cultural 

theory of development ? 

[1] Vygotsky  

[2] Erikson 

[3] Kohlberg  

[4] Bronfenbrenner�

���� �+� '��� ����� 4%�� 	 +���2� +,K� �9
	�� T����
���	 � "���� 
�%�� 	�� "+'R � 	 ��� �	
2� ".%�
3%�4�� 	�� "� C�� �� ����� �� 	���� 	�� ��%�
�
	����+,� * �
[1] � �� �5 '2	 �# �� [2] %  �4 � 	 � #� �
[3] ' ���� .� 2	 � # �� [4] �� �� ��# ��

  ���� What is the mechanism called, 

through which a child tries to  

change his own ego to that of 

someone else ? 

[1] Identification  [2] Rationalization 

[3] Sublimation  [4] Projection�
�!�� ����������� '��� 
� � 	�,�1
�� E�-	� ���<��P�� 	 ��

� �(�
������'�0P� �	 ��"���� �+2��+2��+2��+2� � � +, � *�
�
[1] 
 � �& % �� [2] 
 � F � ��
[3] � �= �%� 
�  � [4] � 5��� �

  �!�� Which of the following component 

is not the part of Guilford structure 

of Intellect model ? 

[1] Operation [2] Cognition 

[3] Content [4] Product�

�"�� � �(� 	�� �����2%� �
(���� 	�� ��������� �	
� ��
�	%��* �
[1] ��P � �� � [2] � �� < �� P ��
[3] 
- �� � �� � [4] � � � ��

  �"�� Who propounded the Triarchic 

theory of Intelligence ?  

[1] Gardner [2] Guilford 

[3] Sternberg [4] Vernan�
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  �#�� 'Family and School' are the examples 

of which environmental system in 

Bronfenbrenner's Bio-ecological 

Model theory ? 

[1] Macro system [2] Micro system 

[3] Exosystem  [4] Chromosystem�

�$�� ����������� '�� � 
� � 	�,�1
�� % U'� 
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[2] � �P  � ��
 

[3] � �� 4
 ��
 

[4] � �% ��� 5 
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�
�
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�$�� Which of the following pair is not 

correct ? 

Theory 

Propounder 

Theory 

[1] Piaget 

 

[2] Bandura 

 

[3] Erikson 

 

[4] Vygotsky 

– Cognitive 

Development Theory 

– Social Learning

Theory 

– Psycho-socio 

Development Theory 

– Moral Development

Theory 
�

�
�� ����������� '��� 
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[1] " ��2 � �� '� �" �� � � � �� � 
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9 ��V 	 � ��
[2] 
� %� � � �� � � 8 
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[3] 
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[4] 3 %� +� � �' � � �" � �%� ��

  �
�� Which of the following is not the 

characteristic of a well-adjusted person ? 

[1] Awareness of his own potentials 

and limitations 

[2] Respecting himself and others 

[3] Balanced aspirations 

[4] Rigidity in behaviour�
�%�� $$'���
	� 
��
/%� 
� �8#��� 3%�4�5 �� 	 �� �8#���
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[1] ' � �� � �� � [2] +, P < 2� P�
[3] P � ; � ��� [4] � �0 � � -��

  �%�� "Mental health is the full and 

harmonious functioning of the whole 

personality." This definition of 

mental health is given by whom ? 

[1] Menninger [2] Hadfield 

[3] Drever [4] Waltin�
�&�� ����������� '����,F ���	��� � '��� 
�� 	�,��

��
-��-����
�� 
����6� �� �+2��+2��+2��+2� ��+, �* �
[1] 	 � � +� � � [2] 	 �� > 	 ��
[3] & � �� '� � [4] � � 2� ' ��

  �&�� Out of the following Psychologists, 

who is not related with Gestaltism ? 

[1] Kohler [2] Koffka 

[3] Kretschmer [4] Wertheimer�
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[3] ��%O� �

[4] ��%�+��

!"�� �
!��� 4
��� ��� ��(���� ���� ��@
���� +��� ������
�-�D��

[1] �H!+���@
����+���

[2] 
�������@
����+���

[3] �
=��
���@
����+���

[4] ��(%�J��!������@
����+���
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���� Select the appropriate one word 

substitution for the following : 

Former students of a school or college 

[1] Emblem [2] Alumni 

[3] Expert [4] Incharge�

���� Change the Narration : 

 "I'm taking the children to the 

zoo tomorrow." She said. 

[1] She  told that she would be 

taking the children to the zoo the 

day after 

[2] She said that she will take the 

children to the zoo the next day 

[3] She told that she will be taking 

the children to the zoo 

[4] She will take the children to the 

zoo, she said�

�
�� Choose the correct synonym of : 

 Genius 

[1] Happy 

[2] Cheerful 

[3] Talented 

[4] Comfort�

���� Select the appropriate preposition for 

the blank : 

He has not yet recovered ………. his 

illness. 

[1] over [2] in 

[3] at [4] from�

���� Choose the option that brings out the 

meaning of the underline idiom : 

A lion's share of India's annual 

budget is for defence. 

[1] major share 

[2] minor amount 

[3] small 

[4] very little�

���� Select the correct antonym of : 

 Gloomy 

[1] Praise [2] Coarse 

[3] Cheerful [4] Dismal�

���� Choose the appropriate conjunction 

for the blank : 

I shall not go ………. I am invited. 

[1] and [2] unless 

[3] but [4] there�

� �� Change the narration to Reported 

Speech. Choose the right option : 

 "Who has been using my 

typewriter ?" Said Mother. 

[1] Mother asked who has been 

using her typewriter 

[2] Mother said who was using her 

typewriter 

[3] Mother asked who had been 

using her typewriter 

[4] Mother asked her typewriter was 

being used by who�
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���� Select the correct meaning of the 

underlined phrasal verb : 

Who can say what will turn up next ? 

[1] remember 

[2] divide 

[3] end 

[4] happen�

���� Choose the part of sentence that has 

error : 

she does not / resemble to / either of /  

 A B C 

her parents 

        D 

[1] A [2] B 

[3] C [4] D�

���� Select the correct tense form from the 
options given :  

When I first (come) to this house, it 

(be) a very quiet   area : 

[1] comes, is  

[2] came, was 

[3] coming, is  

[4] come, are�

���� Select the correct tense form from the 
options given : 

Peter (try) to come in quietly but his 
mother (hear) him. 

[1] tried, heard 

[2] trying, hears 

[3] was trying, was hearing 

[4] is trying, hears�

�
�� Change the voice from Active to 

Passive and select the correct option : 

 Bees make honey 

[1] Honey is make by bees 

[2] Bees are making honey 

[3] Honey are made by bees 

[4] Honey is made by bees�

���� Change the voice and select the 
correct option : 

 Somebody has put out the light. 

[1] The light has put out by 

somebody 

[2] The light has been put out by 
somebody 

[3] Somebody has been out to put 

light 

[4] The light is being put out by 

somebody�

���� Select the correct preposition for the 

blank : 

 I shall do it …..…. pleasure. 

[1] in 

[2] with 

[3] about 

[4] over�
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�������������������	�����������������������������	����������
�������������������	�����������������������������	����������
�������������������	�����������������������������	����������
�������������������	�����������������������������	����������������������������� �

�����������!����"�������#��$��%�������� 

����������������������������������������������� ���!"���������#$�%�����������������&���#�'��&���#�'��&���#�'��&���#�'��������(!�')���*����
���������	
		��������	��
�����
��������
�������������
����	������	
�������
��	���
����

&��� �+�� ,��%� !-��.� ��� ��&�
�� 	��� ��� /0�
#�.�,��%�!�/��������&�
��/�������
[1] 1��%���� [2] ��%����
[3] �23����� [4] 
�)%.����

  &��� Earth is related to Axis in the same 

way as wheel is related to : 

[1] Tyre [2] Car�
[3] Road [4] Hub�

&��� 	�������,���������!�%'���%����/)���/��
44�/� ��%�� �!��� ��� �!����.� !���.���� !���
/055*�,������	�����������,��%���&��
���
/0�6�

[1] ���7�  

[2] +.+��

[3] ���.+�  

[4] !)��

  &��� Anil introduces Prashant, "He is the 

husband of the grand daughter of the 

father of my father". How is 

Prashant related to Anil ? 

[1] Brother  

[2] Brother in law�

[3] Nephew  

[4] Son�

&��� 	��%���� ��� '�%� ��8/� �.'�� ����� +�� %/�� /0��
#�������� �.�� ���.� �������� ���+0���/0�*�
���7����	���/0��#�������������������������������9�:�1����
�

[1] STUA� �

[2] RQPA 

[3] MLKA� �

[4] HGFA 

  &��� Four groups of letters are given 

below, three of them are alike in 

certain way while one is different, 

choose the odd one :�

[1] STUA� �

[2] RQPA 

[3] MLKA� �

[4] HGFA�

&'�� ����� ���� ;�-� ���� ��� 	���� !�� ����
�.�+����

LXF,  MTJ,  NPN,  OLR,   …….. 

[1] PHV [2] PIU�

[3] PJW [4] PKX�

  &'�� Find the next term in the following 

letter series :�

LXF,  MTJ,  NPN,  OLR,   …….. 

[1] PHV [2] PIU�

[3] PJW [4] PKX�
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��	�
��
���� � �

&(�� ���.� ����'�� �81� ���� '786' ��� 	����
'Study very hard'��'958' ���	����'Hard 

work pays'��'645' ���	����'Study and 

work'������'very'�������2�<���/�����6�
[1] 8 [2] 6�
[3] 7 [4] 5�

  &(�� In a certain code '786' means 'Study 

very hard'��'958' means 'Hard work 

pays', '645' means 'Study and work', 

which is the code for 'very' ?�
[1] 8 [2] 6�
[3] 7 [4] 5�

&&�� ����A, B����40� �.1%�����=�-!��'������
/����C, B����40� �.1%�����=�-!8��� ����/����
��� C, A������������������/�����6�
[1] !8��  

[2] !��'��
[3] #$�%-!8��  

[4] ����=��

  &&�� If A is 40 meter South-West of B, C 

is 40 meter South-East of B, then C 

is in which direction of A ?�
[1] East  

[2] West�
[3] North-East  

[4] South�

&)�� 150� ��>����������?�%��!"�@��	�0���	���35�
���*� ���� 7����� ��� #$�.=��� ��>���������� ���
	�0��� ,�@����� 39� /��� ����� 	�)$�.=���
��>���������� ��� 	�0��� ,�@����� 15� /���� ����
!%.���� ���� #$�.=��� /����� ����� ��>���������� �.�
�� ��������.�+��� 
[1] 120 [2] 125�
[3] 135 [4] 140�

  &)�� The average marks obtained by 150 

candidates was 35. If the average 

marks of passed candidates was 39 

and that of the failed candidate was 

15, find the number of candidates 

who passed the examination : 

[1] 120 [2] 125�
[3] 135 [4] 140�

&��� ���� cbba
yx

== , �	�0%� ac
z

= ,� ����
xyz �������<���/�����6�

[1] abc [2] 1 

[3] 
abc

1
 [4] ab 

  &��� If cbba
yx

== , �and� ac
z

= �� then 

what is the value of xyz ?�

[1] abc [2] 1 

[3] 
abc

1
 [4] ab����

&*�� �/� 9��1.� ��� 9��1.� !8=��� ���� �� ��� ����
�.�+��+���4, 5, 6, 15 �����18 ���!8=�����
������+��/�����

[1] 800� [2] 225�

[3] 900� [4] 361�

  &*�� Find the smallest perfect square 

number which is exactly divisible by 

4, 5, 6, 15 and 18 : 

[1] 800� [2] 225�

[3] 900� [4] 361 



� ���(��� ������
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)+�� ( ) ( ) 2/32/5
55

−−
× �������<���/�����6�

�

[1] 
25

1  
[2] 

125

1
 

[3] 
325

1  
[4] 

625

1
 

  )+�� What is the value of 

                        ( ) ( ) 2/32/5
55

−−
×  ?�

[1] 
25

1  
[2] 

125

1
 

[3] 
325

1  
[4] 

625

1 �

)��� ���7��
���'A�-�B�C��+��.��%����15��D���
�����)�)���/���+����/0�������������D���E������/�
#�.�C��+��.��%����8��)���/���+������6�
 

[1] 30 �D�� [2] 40��D���

[3] 60��D�� [4] 45��D���

  )��� A sum of money doubles itself in 15 

years at compound interest. In how 

many years it will become 8 times at 

the same compound interest rate ? 

[1] 30 years [2] 40�years�

[3] 60�years [4] 45�years�

)��� ����25�	���.� ���.�F�������60� �������
������1������/0�������10�	���.�#�.�F���
�����������������������1��������6 

[1] 125���� [2] 92���� �

[3] 100���� [4] 150���� �

  )��� If 25 men can reap a crop in 60 days, 

then in how many days will 10 men 

reap the crop ? 

[1] 125�days [2] 92�days�

[3] 100�days [4] 150�days�

)��� ���� 5
1

=+
x

x �/��������
3

3 1

x
x + ��������

<���/�����6�
�

[1] 125 [2] 110�

[3] 115 [4] 105�

  
)��� If 5

1
=+

x
x ,�then what is the value 

of 
3

3 1

x
x +  ?�

[1] 125 [2] 110�

[3] 115 [4] 105�

)'�� ����� 	��� ;�-� ���� ��� 	���� !�� <����
/�����6�

2,  7,  24,  77,  238, ……..�

[1] 721 [2] 722�

[3] 723 [4] 733�

  )'�� Find the next term in the following 

number series : 

2,  7,  24,  77,  238, …….. 

[1] 721 [2] 722�

[3] 723 [4] 733�



������ ���&���

��	�
��
���� � �

)(�� ........82828 +++ ���� ���� ����
�.�+��� 

[1] 8 [2] 10�

[3] 11 [4] 4�

  )(�� Find the value of : 

........82828 +++  

[1] 8 [2] 10�
[3] 11 [4] 4�

)&�� ���������.�!"
������)+������50% �.��-�B�
/���+���������7��������F���.�,�������-�B�
�����.�+����

[1] 50% [2] 100%�

[3] 125% [4] 150%�

  
)&�� If each side of the square be 

increased by 50%, then find the 

percentage increase in the area :�

[1] 50% [2] 100%�

[3] 125% [4] 150%�

))�� ����− ���	��� ×��+ ���	��� ÷,�÷ ���	��� +��
× ���	��� − /0������15 − 5 ÷ 5 × 20 + 10 

�������<���/�����6�

[1] 70 [2] 78�

[3] 75 [4] 73�

  ))�� If × stands for −��÷ stands for�+,�+ stands 

for ÷,�− stands for�×, then what is 

the value of 15 − 5 ÷ 5 × 20 + 10 ?�

[1] 70 [2] 78�
[3] 75 [4] 73�

)��� ���.��G�)�����72,000 H!�������&�'���!%�
���.�I��<������20% ��������/�����/0������
#���G�)����A���8(��<�������6�
�

[1] 60,000 HJ [2] 50,000 HJ�

[3] 40,000 HJ [4] 65,000 HJ�

  
)��� By selling a commodity for 

Rs. 72,000, a person made a profit of 

20%. What was the cost price of that 

commodity ?�

[1] Rs. 60,000 [2] Rs. 50,000�

[3] Rs. 40,000 [4] Rs. 65,000 �

)*�� �����;�-� ����������0�K���!���������������/0�6�
�
 8, 13, 21, 32, 47, 63, 83 

[1] 13 [2] 32�
[3] 47 [4] 63�

  )*�� Which term is wrong in the 

following series ? 

 8, 13, 21, 32, 47, 63, 83 

[1] 13 [2] 32�
[3] 47 [4] 63 

�+�� ��� L���� M��� ���.� !-DL���� !%� ���� %��� ���
%��������/0*�	&�7���64 9��1��M������������1��
+���� /0�� ����� ������9��1�� M���/������ �+����
���7��!-DL�%����/)	���/.��/���6 

[1] 24 [2] 16�

[3] 8 [4] 4�

  �+�� A solid cube is coloured red on all 

faces. It is cut into 64 smaller cubes 

of equal size. How many small cubes 

have no face coloured ? 

[1] 24 [2] 16�

[3] 8 [4] 4�



� ���)��� ������

��	�
��
���� � ���������

���� �/�G������ �+����'.�.����.��)	���N�����
�����"�=��	�0%�#(�� �������/0���
�
[1] 	�"��/�  

[2] �)� 

[3] �)H����  

[4] !��.!��

  ���� The place, which was visited and 

mentioned by Chinese traveller Yuan 

Chwang :�
[1] Agroha  

[2] Sugh 

[3] Kurukshetra  

[4] Panipat�

���� �/��+����+/�:�2�������71�!����+����/0���
[1] �/��O�P3  

[2] �)H�"�� 

[3] F%.��&���
[4] !��.!��

  ���� The district, where Dolomite is found :�
[1] Mahendragarh 

[2] Gurugram 

[3] Faridabad 

[4] Panipat�

���� /�%��=��� �%��%��.� �������+������ �/��
/�%��=��� ��� ��G�� !�%��%���� ���
�����+�K	�������2�1���0��%� �����+��%/��
/0�6�

[1] 	�
������!�%��%�#
��������+���

[2] !�%��%�!/'���!�����+�� 

[3] �) ����.�!�%��%���-�B����+���
�

[4] +��	�
��%����+���

  ���� Under which scheme of Haryana 

Government the socio-economic 

data of all the families of Haryana is 

being created ?�

[1] Antyoday Parivar Utthan Yojna 

[2] Parivar Pehchan Patra Yojna 

[3] Mukhyamantri Parivar Samriddhi 

Yojna 

[4] Jan Aadhar Yojna�

�'�� /�%��=��� ��� !�'���.� %�+� ��G���	���� ����
��/��	�����������	�%������.��7���.1�������
,������/0���

[1] 25% [2] 33% 

[3] 66% [4] 50%�

  �'�� Percentage of posts which have been 

reserved for women in Panchayati 

Raj Institutions of Haryana :�

[1] 25% [2] 33% 

[3] 66% [4] 50%�

�(�� �/� �+���� +/�:� !/�.� &�%� /�%��=��� ����
7�-'��������8����������/0���
�

[1] �)H�"�� [2] !�'�)�� 

[3] �/��% [4] %��/���

  �(�� The district, where first time in 

Haryana E-challan has been 

introduced :�

[1] Gurugram [2] Panchkula 

[3] Hisar [4] Rohtak�



������ �������

��	�
��
���� � �

�&�� 4����&�� ��1.� !"��+�<15� ������� ����� +��
%/��/0���
[1] �'J� ��J� 	�7�J� 	�7�J� 2.J� �.J��

/�%��=����%��%�?�%��
[2] +.J���J�2.J��J�� /�%��=����%��%�

?�%� 
[3] �'J� �8J� 2.J� �J�� /�%��=��� �%��%�

?�%��
[4] ��/%.� ������ �������� ���%�� �%��%�

?�%��

  �&�� 'Global City Project' is being 

developed by :�
[1] HSIIDC, Govt. of Haryana 

 

[2] GMDA, Govt. of Haryana 

 

[3] HUDA, Govt. of Haryana  

 

[4] Ministry of Urban Development, 

Govt. of India�

�)�� �/�	��2���+�����,�����=������#
QD1���/��)�
/�%��=��� %�R��?�%�� ����,����������� �����
+����/0���
[1] O��=��'����	��2�  
[2] �)H�����DL�	��2� 
[3] �/�%�=���,��!�	��2�  
[4] 	+)���	��2��

  �)�� The award, which is given to a sport 

coach for excellence in coaching by 

the Haryana State :�
[1] Dronacharya award 

[2] Guru Vashistha award 

[3] Maharana Pratap award 

[4] Arjuna award�

���� ����F���.� �-�D1���� /�%��=������ ���%������
G�����/0���
[1] 11��: [2] 21��: 
[3] 15��: [4] 18��:�

  ���� The position of Haryana in India in 

respect of area is :�
[1] 11th [2] 21st 

[3] 15th [4] 18th�

�*�� ����F�� �.� �-�D1� ��� �M�)��� ���� +.��
	����%=��/0���
[1] ���=2�����
[2] ��/% 
[3] �%G��.�
[4] �9��9�� 

  �*�� The smallest (in term of area) wild 

life sanctuary is :�
[1] Bhindawas 

[2] Nahar 

[3] Saraswati 

[4] Chhilchhila�

*+�� /�%��=������� %�R��,��������� ���
����,�) ��
/0����
[1] %�R������) ����.�
[2] ������.��	��)<� 

[3] %�R������/��
��<���
[4] %�R�����%�R�!�� 

  *+�� The de jure head of the State 

Administration in Haryana is :�
[1] Chief Minister of the State  

[2] Divisional Commissioner 

[3] Advocate General of the State 

[4] Governor of the State�
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 ���������������� 
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�����
��������
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����	������	
�������
��	���
����

���� �����	��	 �$�"���	��%
	&��	'	
[1] �%��(
	)�(���
	
[2] ���
��*�	)� +�	
[3] �����,	��&�-�	
[4] ��!��	 "+	

  
���� Who was the architect of Paris ? 

[1] Baron Haussmann 

[2] Ebenezer Howard 

[3] Joseph Mathews 

[4] Charles Wood	

���� �-�.�-�.�-�.�-�.-I	 ��	 �-�.�-�.�-�.�-�.-II	 ��	 ���	 �.����	 
�%�	
�-�.	��	
.��	���	��	�-/	��	������	����	
�)�)�)�)....	����	�"�
�	�	
				 �-�.�-�.�-�.�-�.-I �-�.�-�.�-�.�-�.-II				
0�����.�	��1/2.�	�������	0�����.�	��1/2.�	�������	0�����.�	��1/2.�	�������	0�����.�	��1/2.�	�������	
��	
��3����	��	
��4��	
��3����	��	
��4��	
��3����	��	
��4��	
��3����	��	
��4				

0�����.�	��1/2.�	0�����.�	��1/2.�	0�����.�	��1/2.�	0�����.�	��1/2.�	
�������	��	�54�������	��	�54�������	��	�54�������	��	�54				

(a) 
����� ��6� ��-����	 (i) 1924 

(b) �������7�	
�%����.	 (ii) 1916 

(c) �)�8��	�����.		 (iii) 1925 

(d) 9.��.	������
.	

��+-	

(iv) 1906 

�-/�-/�-/�-/				����				
 (a) (b) (c) (d) 

[1] i ii iii iv 

[2] iii iv i ii 

[3] ii iv i iii 

[4] ii iv iii i 
	

  ���� Match List-I with List-II and select 

the correct answer using the codes 

given below the list : 

 List-I List-II 

(Name of President 

of Indian National 

Congress) 

(Session of the 

Indian National 

Congress) 

(a) Ambika Charan 

Mazumdar 

(i) 1924 

(b) Dadabhai Naoroji (ii) 1916 

(c) Mahatma Gandhi (iii) 1925 

(d) Mrs. Sarojini 

Naidu 

(iv) 1906 

Codes : 

 (a) (b) (c) (d) 

[1] i ii iii iv 

[2] iii iv i ii 

[3] ii iv i iii 

[4] ii iv iii i 
		 		

����

�Y

�C 	:�;�	����	)%	�	

[1] MPC  

[2] APC 

[3] MPS  

[4] APS	

  
����

�Y

�C
 stands for :	

[1] MPC  

[2] APC 

[3] MPS  

[4] APS	



����� �������

��	�
��
���� � �

� �� �-�.�-�.�-�.�-�.-I	 ��	 �-�.�-�.�-�.�-�.-II	 ��	 ���	 �.����	 
�%�	
�-�.	��	
.��	���	��	�-/	��	������	����	
�).�).�).�).	����	�"�
�	�	
				 �-�.�-�.�-�.�-�.-I �-�.�-�.�-�.�-�.-II				
0
�<����
	��	
��40
�<����
	��	
��40
�<����
	��	
��40
�<����
	��	
��4				 0
�<����
	��	
���40
�<����
	��	
���40
�<����
	��	
���40
�<����
	��	
���4				

(a) �8��������	 (i) =������� 	,"�� 
(b) 
�8�����
	


������
	
(ii) 7�>	 .>	

�������.	

���� 

(c) ����"���.	 ������	
��,�(��	
���������
	

(iii)  .���������	
���"�" 

(d) 
������.		 (iv) ���	���) 

�-/�-/�-/�-/				����				
 (a) (b) (c) (d) 
[1] i ii iii iv 
[2] ii iv i iii 
[3] i iv iii ii 
[4] ii iv iii i 

	

  
� �� Match List-I with List-II and select 

the correct answer using the codes 

given below the list : 

List-I List-II				
(Name of the 
Movement) 

(Leader of the 
Movement) 

(a) Satyashodhak (i) Jyotirao Phule 

(b) Self Respect 
Movement 

(ii) E. V. 
Ramasamy 
Naicker 

(c) Rajahmundry 

Social Reform 

Association 

(iii)Veeresalingam 

Pantulu  

(d) Namdhari (iv) Ram Singh 

 
Codes : 
 (a) (b) (c) (d) 
[1] i ii iii iv 
[2] ii iv i iii 
[3] i iv iii ii 
[4] ii iv iii i 

	

�!�� �
�
������	 ���	 ��	 ���	 �����	 ���	 ,��	
?�.��	���@�����A	)���.	)%	'	
[1] ���������	
[2] ���������.	�����������	
[3] �-6��	�����������	
[4] 
!��������	

  
�!�� Under which of the following markets 

is the firm a 'price taker' ? 

[1] Monopoly 

[2] Monopolistic competition 

[3] Perfect competition 

[4] Oligopoly 	

�"�� 1971 ��	����	����	�"
� ���	 ���	�������	��	
��	�"
� 	��)B
	&��	�	
�
[1] ���	�%����	�.	���+*.	
[2] ����.	����	����
	
[3] ���-�C+*�	
[4] ����	�.��	

  
�"�� The election symbol of the Congress 

Party in the Lok Sabha elections of 

1971, was : 

[1] A pair of bullocks carrying a yoke  

[2] A farmer with plough 

[3] A cow with suckling calf 

[4] An oil lamp 

�#�� ����
	�.	��D�	)%	�	
[1] :�"8�<
	��D�	
[2] ��8�3�	��D�	
[3] ���";�	��D�	
[4] ���.	� �!�	���	)%�	

  �#�� The demand for a factor is : 

[1] Derived demand 

[2] Direct demand 

[3] Joint demand 

[4] All options are wrong 	



 ������� ������

��	�
��
���� � ���������

���� ��	����8���	 E	��	���.	������	�������	)%�	�	
	
[1] ����
���	��	���
	$��	
[2] �8���
	��	���
	$��	
[3] ���"�1/	��	���
	$��	
[4] 
��	��	���
	$��	

  ���� All combinations on an isoquant 
curve signify : 

[1] Same level of inputs 
[2] Same level of output  
[3] Same level of satisfaction  
[4] Same level of income 	

���� ��	&��(��	�"
���	���	��-F���$ 	��6���.	��	
���G	&��	'	
[1] �%�� �+*.	��6���.	
[2] �)�� �+*.	
[3] $&��7�	�<����$�	
[4] ��.����.	

  ���� To which land revenue system was 
Sir Thomas Munro associated with ? 

[1] Ryotwari System 
[2] Mahalwari 
[3] Permanent Settlement 
[4] Zamindari	

����� �
�
������	���	��	���
�	)����6��	���	?<���	
�"GA	
���	
�<����
	��	
��H8 	����	'	
�
[1] ���.	���	
[2] C��/-	���	
[3] �� .	���	
[4] ��� �	����	�����	

  
����� Who among the following led the 

movement called, 'Nyaya Yudh' 
(Struggle for Justice) in Haryana ? 

[1] Bansi Lal 
[2] Chotu Ram 
[3] Devi Lal 
[4] Bhagwat Dayal Sharma 

����� �
�
	 ���	 ��	 ��%
-��	 ���1/	 
&�����$5	 ��	
��������	
).�
).�
).�
).�	 )%	'	
[1] ����<�	�.��	$��	
[2] ��1/2.�	
��		
[3] �8���
	 � �	 �������	 ��	 $��	 ��	

��G���	
[4] ������;��	��	���"�
	

  
����� Which of the following is not related 

to macro economics ? 

[1] General price level  

[2] National income  

[3] Theory of output and employment 

level 

[4] Consumer equilibrium	

����� �-�.�-�.�-�.�-�.-I	���	�-�.�-�.�-�.�-�.-II	��	�"�����	�.���	�&��	

.��	���	�-/	��	�).�).�).�).	����	�"�
�	�	
				 �-�.�-�.�-�.�-�.-I 				 �-�.�-�.�-�.�-�.-II				
				 0��"��.	��5.40��"��.	��5.40��"��.	��5.40��"��.	��5.4				 				 0����40����40����40����4				
(a)  �$���F+.F����	 (i) $��
 

(b) �E$/��,�	�������	 (ii) �"����� 

(c) �%@/
	�"�	 (iii) )�(�%6+ 

(d) �$��
	 (iv) ���/	���/�
 

�-/�-/�-/�-/				����				
 (a) (b) (c) (d) 
[1] iii ii i iv 
[2] ii i iv iii 
[3] i iv iii ii 
[4] iv iii ii i 

	

  
����� Match List-I with List-II and select 

the correct answer using the codes 
given below the list : 

 List-I  List-II				
 (Sea Farer)  (Countries) 

(a) Vasco-da-Gama (i) Spain 

(b) Christopher 
Columbus 

(ii) Portugal 

(c) Captain Cook (iii) Holland 

(d) Tasman (iv) Great Britain 

Codes : 
 (a) (b) (c) (d) 
[1] iii ii i iv 
[2] ii i iv iii 
[3] i iv iii ii 
[4] iv iii ii i 

	



����� �������

��	�
��
���� � �

����� � �
�	�"!�	�� ��"	���	
<�	���	
��	���	
��
�	����	)%	'	
[1] ��3�6�.	
I.��	�"!�	
[2] ����*.�	�"!�	
[3] �-+�
	�"!�	
[4] �>	
�($/�2�����	�"!�	

  
����� By what name is the climate is 

known similar to the Savanna ? 

[1] South Africa type 

[2] Brazil type 

[3] Sudan type 

[4] Western Australia type	

�� �� ��� ���
	����	�.	?��=�	�����A	��	
��3�	
��%
	&��	'�
[1] ��J���
<�	��<)�	
[2] +�(>	����<��	�����	
[3] +�(>	�.>	
��>	
���+��	
[4] � �)����	
�)K 

  �� �� Who was the Chairman of the 'states 

committee' of the Constituent Assembly ? 

[1] Sachchidanand Sinha 

[2] Dr. Rajendra Prasad 

[3] Dr. B. R. Ambedkar 

[4] Jawaharlal Nehru 

��!�� L
����	 �����.�	 
$�H����	 �
 ��6�	 ��M�	
1932N	�.	$&���
�	���
�	�.	'	
[1] +�(>	��.��� 	
���+��	
[2] �)�8��	�����.	
[3] =�������	,"��	
[4] +�(>	����<��	�����	

  ��!�� "All India Anti-Untouchability 

League 1932" was established by : 

[1] Dr. Bhimrao Ambedkar 

[2] Mahatma Gandhi 

[3] Jyotiba Phule 

[4] Dr. Rajendra Prasad	

��"�� �
�
������	 ���	 ��	 ��%
F��	 �"�����	 
).�
).�
).�
).�	
)%	'	
[1] ����	��O.	F	����	������	
[2] ���.	��O.	F	�)���1/2	
[3] ���	
�%�	�.�.	��O.	F	����
�+" 
[4] �%/���7/	��O.	F	�����	

  ��"�� Which of the following is not 

correctly matched ? 

[1] Alluvial Soil – Uttar Pradesh  

[2] Black Soil – Maharashtra 

[3] Red and Yellow Soil – Tamil Nadu 

[4] Laterite Soil – Punjab	

��#�� ��� ���
	����	��	����	�"
� 	
�������	����	
���	&��	��
[1] �"��7�P	1946 ��� 
[2] 
 ���P	1946 ���	
[3] �
 �.P	1950 ���	
[4] �-
P	1949 ���	

  ��#�� Election to the Constituent Assembly 

were held in : 

[1] July, 1946 

[2] November, 1946 

[3] January, 1950 

[4] June, 1949 

����� �
�
������	 ���	 ��	 ��%
F��	 ��	 $&��QG	
����	)%	'	
[1] ����.� ��	 [2] ��K	
[3] 7; �+���	 [4] �QR �	

  ����� Which one of the following coutries 

is a landlocked ? 

[1] Bolivia [2] Peru 

[3] Ecuador [4] Uruguay	



 ������� ������

��	�
��
���� � ���������

����� L��
F�
1���
	 ��	 ���B�����N	 ���
�	
���������	����	'	
[1] � �)����	
�)K	
[2] ����	�����	���	
[3] ���	�������	����	
[4] �������7�	
�%����.	

  ����� Who propounded, the "Theory of 

Drain of Wealth" ? 

[1] Jawaharlal Nehru 

[2] Lala Lajpat Rai 

[3] Bal Gangadhar Tilak 

[4] Dadabhai Naoroji	

����� �
�
������	���	��	��%
	�J�	�������	���	������	

).�
).�
).�
).�	 ����	����	)%	'	
[1] �3����	
[2] �3����F$��.	
[3] $��.F����.	
[4] �3����F����.	

  ����� Which of the following is not 

included in the high clouds ? 

[1] Cirrus  

[2] Cirro-Stratus 

[3] Strato-Cumulus 

[4] Cirro-Cumulus	

����� ����	 ��)�.	 �
��	 �����	��M�	 (2018)	 ��	
��������	)%	�	
[1] 7JC�	�H8�"	��	
[2] �
 ���
	�"�������	��	
[3] ����$&��	��	��%
	�8�.+*
	��	
[4] �H8�"�6+	��	

  ����� Lok Prahari vs Union of India (2018) 

case is related to : 

[1] Euthanasia  

[2] Electoral Reforms 

[3] Sexual harassment at workplace 

[4] Capital Punishment 

����� 1928 ���	�����	��	���	��� ���
	�.	K������	
�%���	 ��
�	  ��.	 
�)K	 �����	 ���	 ���
�	
��$�	&��	'�

[1] 9 [2] 5	

[3] 7 [4] 11	

  ����� How many members were there in 

Nehru Committee that drafted the 

Constitution for India in 1928 ? 

[1] 9 [2] 5	

[3] 7 [4] 11 

����� 
������	 �������	 ����	 ��	 ��G�<�	
���������	����	�	
[1] 7�>	��6+��	
�	
[2] �>	 ��
�	
�	
[3] 
��>	�>	����� 	
�	
[4] ��>	+�!/
	
�	

  ����� The principle of maximum social 

advantage was propounded by :  

[1] E. Lindahl  

[2] A. Wagner  

[3] R. A. Musgrave  

[4] H. Dalton 	

�� �� �/��	� ��	��	� $���	
I.��	�)�S.�	��	
���	����	���	
).�
).�
).�
).�	)%	'	
	
[1] ����;���	 [2] 
!�.����	
[3] /B�-
.�����	 [4] ���������	

  �� �� In which country of the continent of 

Africa the Atlas Mountains does not 

extended ? 

[1] Morocco [2] Algeria 

[3] Tunisia [4] Mozambique	



����� ��� ���

��	�
��
���� � �

��!�� �
�
�����	���	�����	�"���
	
).�
).�
).�
).�	)%	'	
	
[1] ����*.�	�����	F	��3�6�	
/���6/�	
	 	 							�)�����	
[2] )����!/	�����	F	����.	�����<�	�)�����	
	
[3] �!,	$/2.�	F	����.	
/���6/�	
	 	 	 		�)�����	
[4] ��"�)��	�����	F	�)<�	�)�����	

  
��!�� Which of the following is not 

matching ? 

[1] Brazil Current – the South 

  Atlantic Ocean 

[2] Humboldt Current – the North 

    Pacific Ocean 

[3] Gulf Stream – the North Atlantic 

        Ocean 

[4] Agulhas Current – the Indian 

        Ocean	

��"�� ��	 �"�	 ���������	 M�/�.	 )%P	 ���	 �.��<�	
���������	)���.	)%	�	
[1] ��-<�	 [2] ��
�8��	
[3] T6��8��	 [4] 7
���	��	���7�	
).�		

  ��"�� When total utility decreases, marginal 

utility is : 

[1] Zero [2] Positive 

[3] Negative [4] None of these 	

��#�� �
�
������	 ���	 ��	 ���	 ��U�V��U�� �.	 ��	
������	 �����.�	 ��� ���
	 ���	 
).�
).�
).�
).�				 ����	 ���		
)%	'�
(i) ��M�	
(ii) 
� � ��	��$�� 	
(iii) ��
)��
	
(iv) 
�����	�W.�
	

.��	 ����	 ���	 �-/���	 �.	 �)����	 ��	 �).�).�).�).	
� �!�	��	��
	�.���	�	
[1] �� �	(i)	
�%�	(iv) 

[2] �� �	(ii)	
�%�	(iv)	
[3] �� �	(i)	
�%�	(ii)	
[4] �� �	(ii)	
�%�	(iii)	

  
��#�� Which of the following words/ 

terminologies is/are not mentioned 

in the Constitution of India ? 

(i) Federalism  

(ii) No confidence motion 

(iii) Defamation  

(iv) Incitement to an offence 

Select the correct option from the 

code given below :  

[1] Only (i) and (iv) 

[2] Only (ii) and (iv) 

[3] Only (i) and (ii) 

[4] Only (ii) and (iii) 

����� ���/
	  "+B�	 �����
	 ���	 ���	 
�����1/2.�	
���X
	�.	$&���
�	�.	�7�	&�.	'	
	
[1] UNICEF [2] WHO	
[3] IMF [4] NATO	

  ����� Which International Organization 

was established in Bretton Woods 

Conference ? 

[1] UNICEF [2] WHO	
[3] IMF [4] NATO	

����� �����	�.	����	���	�
��
.�	��$����	�.	�"�	
�����	)��	���.	)%	�	
�
[1] 10 [2] 12 

[3] 14 [4] 16	

  ����� The total number of nominated 

members in the Parliament of India, 

can be : 

[1] 10 [2] 12 

[3] 14 [4] 16 



 ���!��� ������

��	�
��
���� � ���������

����� :��	���R�	
��	)%	�	
[1] :��;���	
��	–	���	
[2] :��;���	
��	–	:��;���	��	
[3] GNP	–	���	
[4] �������	– ���	

  
����� Disposable income is equal to : 

[1] Personal income – Saving 

[2] Personal income – Personal taxes 

[3] GNP – Saving 

[4] Consumption – Saving	

����� ���	�.����7�	��	�"Q	����	��
�	����	)%	'	
	
[1] ��
�&�	 [2] �� ���	
[3] 
���� 	 [4] ������	

  
����� Who is considered as the Guru of 

Saint Mirabai ? 

[1] Eknath [2] Ravidas 

[3] Namdev [4] Ramdas	

����� )����6��	��	 � �
�������	�
 �����	��������	�.	
�����	)%	��
[1] 10 [2] 12 

[3] 20 [4] 15	

  
����� The number of stipulated elected 

MPs from Haryana is : 

[1] 10 [2] 12 

[3] 20 [4] 15 

����� �
 ���
	
�����	��	��$����	�.	 �
�"�;�	�.	
���.	)%	��
[1] ��1/2���	S���	
[2] �����
��5.	S���	
[3] ����	S���	
[4] �"��	<������.��	S���	

  
����� Members of Election Commission 

are�appointed by : 

[1] President 

[2] Prime Minister 

[3] Parliament 

[4] Chief Justice 

�� �� �-�.�-�.�-�.�-�.-I	���	 �-�.�-�.�-�.�-�.-II	��	�"�����	�.���	�&��	

.��	���	��	�-/	��	�).�).�).�).	����	�"�
�	�	
				 �-�.�-�.�-�.�-�.-I 				 �-�.�-�.�-�.�-�.-II				
(a) �- �	��	���$/
	 (i) �����%� 
(b) �-�.	 $5���	�.	

������
.	
(ii) 
)������ 

(c) ��3�6�	�����	��	
�%
��$/�	

(iii) ������/-� 

(d) 7��;/2�(�
�	��/.	 (iv) �"��7� 
�-/�-/�-/�-/				����				
 (a) (b) (c) (d) 

[1] (ii) (iv) (iii) (i) 

[2] (iii) (ii) (iv) (i) 

[3] (i) (iii) (ii) (iv) 

[4] (i) (ii) (iii) (iv) 
	

  �� �� Match List-I with List-II and select 

the correct answer using the codes 

given below : 

 List-I  List-II				

(a) Boston of the East	 (i) Bangalore 

(b) Cottonopolis of 

India	

(ii)  Ahmedabad 

(c) Manchester of 

South India	

(iii) Coimbatore 

(d) Electronic city	 (iv) Mumbai 

Codes : 

 (a) (b) (c) (d) 

[1] (ii) (iv) (iii) (i) 

[2] (iii) (ii) (iv) (i) 

[3] (i) (iii) (ii) (iv) 

[4] (i) (ii) (iii) (iv) 
	



����� ���"���

��	�
��
���� � �

��!�� ����	�-���	�
����	)%	�	
[1] �-D�.	
[2] ��
.�	��	$��	
[3] 9�	�8������	
[4] ���.	� �!�	�).	)%�	

  ��!�� Aggregate supply depends on : 

[1] Capital  

[2] Level of technology 

[3] Labour productivity 

[4] All options are right	

��"�� �
�
	���	��	��%
-�.	��Y	�����.	��!�.-�"��7�	

�%Z�����	 ��(�.+���	 �������
�	 ��	 ���	
� ��.�	���	����
	��	�).	)%	'		
	
[1] � � 	�%��	
[2] �����
	� ���	�%��	
[3] ���
	�����	
[4] ����
	�����	

  
��"�� Which of the following external 

agency is providing financial help 

for Delhi-Mumbai Industrial Corridor 

Project ? 

[1] World Bank 

[2] Asian Development Bank 

[3] German Government 

[4] Government of Japan 

��#�� �-��.	��%G	���1��B	 0���.��4	�)�D	
�%�	��	

�������	�.	�7�	&�.	'	
[1] ��/���"5	���P	250 7�>	�->	
[2] 9.����	���P	�)�.	����U�.	7�>	�->	
[3]  %����.	���P	383	7�>	�->	
[4] ���+��	���P	1871	7�� .	

  
��#�� Where and when was the Second 

Buddhist Council held ? 

[1] Pataliputra in 250 BCE 

[2] Sri Lanka in 1st Century BCE 

[3] Vaishali in 383 BCE 

[4] Mandalay in 1871 CE	

����� �"@�	���	��	�����	���	�
�"6�	 .6��	 ���	
&��	�	
[1] �<���"@�	 	
[2] $�<��"@�	
[3] ��"���"@�	 	
[4] � 16�"�"@�	

  
����� The ruler of Gupta period who was 

an expert player of Veena : 

[1] Chandragupta 

[2] Skandagupta 

[3] Samudragupta 

[4] Vishnugupta	

����� 
.��	
�����	��	��&��	�����3�	&��	�	
	
[1] ���. 	�"���	
[2] 
������	����	
[3] 
�� ��	�
��[*��	
[4] �M�"���	���
	

  
����� The first Vice Chairman of Niti 

Aayog was : 

[1] Rajiv Kumar 

[2] Amitabh Kant 

[3] Arvind Panagariya  

[4] Raghuram Rajan 	
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�����	 ��	 ��������	
�&�
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�8�
�8�
�8�	
)%V)%�	'	
(i) 
�����	���	1	
��3�	� �	6	��$�	)����	

)%�#	
(ii) 7�	 
�����	 ��	 �X
	 12	 
;/-��P	

1993	���	)"
�#	
(iii) 7�	
�����	��	 �X
	
;/-��P	1991	

��	�����	��G�<����	��	

"K�	)"
�	)%#	
	

�-/	�-/	�-/	�-/	����				
[1] �� �	(i)  

[2] �� �	(ii)	
[3] (i) 
�%� (iii)  

[4] ���. (i), (ii) 
�%� (iii) 	

  ����� Which of the following statements 

related to National Human Rights 

Commission is/are false ? 

(i) The commission consists of one 

chairman and six members. 

(ii) This commission was constituted 

on 12th October, 1993. 

(iii) This commission is in conformity 

with the Paris principles of 

October, 1991. 

Codes : 

[1] Only (i)  

[2] Only (ii)	
[3] (i) and (iii)  

[4] All (i), (ii) and (iii) 

����� )�\�	 ���	��	
�<��	�����	&��	�	
	
[1] 
������	 [2] �"6+�	
[3] 
�
QG	 [4] �����
	

  ����� The last ruler of the Haryank dynasty 

was : 

[1] Nagadasaka [2] Mundak 

[3] Aniruddha [4] Udayin	

����� ����	 ��	 ���
���	 ��
���	 ���	 ������	 ����
�	 ��	
��1/2���	��	
������	��	�!����	)%	�	
�
[1] 

">	84 ��� [2] 

">	87 ��� 
[3] 

">	88(1) ��� [4] 

">	86(1) ���	

  ����� The Right of the President to send 

messages to both the houses of 

Parliament is mentioned in : 

[1] Art. 84 [2] Art. 87 

[3] Art. 88(1) [4] Art. 86(1) 

����� ���	7
	7��+��	��������	��	���<��	)%	�	
[1] 30	�Z���V3��5	
[2] 25	�Z���V3��5	
[3] 20	�Z���V3��5	
[4] 15	�Z���V3��5	

  ����� Make in India Programme concern : 

[1] 30 Industries / Sector  

[2] 25 Industries / Sector 

[3] 20 Industries / Sector 

[4] 15 Industries / Sector	

�� �� ��!&��	��	

"���	�
�����	�[*�.	)%	�	
	
[1] �"6������	��	��	
[2] 
����6��.�	��	��	
[3] )��8��	��	��	
[4] 7
���	��	���7�	
).�		

  �� �� According to Malthus, population 

increases in : 

[1] Geometrical progression 

[2] Arithmetical progression 

[3] Harmonic progression 

[4] None of these 	



����� �������

��	�
��
���� � �

��!�� �����
	S���	�� ��"	 �.���6�	���	���	����	
�.	M��/.	�.	�� ��"	�����7�	�7�	)%	�	
	
[1] Aw S���	 [2] Amw S���	
[3] Cwg S���	 [4] Bshw S���	

  ��!�� In Koppen's Climatic classification 

of India the central Ganges valley is 

represented by : 

[1] Aw [2] Amw	
[3] Cwg [4] Bshw	

��"�� �����.�	 ��� ���
	 ��	 ��%
-��	 

"JC��	 ?�	
���;��	
����	�+��/	���	 �;��.A	��G�<�	��	
��������	)%	'	
[1] 

">	20(1)  

[2] 

">	20(2)	
[3] 

">	20(3)  

[4] 

">	21	

  ��"�� Which among the following articles 

of Indian Constitution is related to 'The 

Maxim Nemo debet bis Vexari' theory ? 

[1] Art. 20(1)  

[2] Art. 20(2) 

[3] Art. 20(3)  

[4] Art. 21 

��#�� ��������	 ��	 ��$����	 �.	 �"�	 �����	 ��	
���
�	 �������	 ��	 ��M�.�	 ���5���1��B	 �.	
��$�	�����	)��	���.	)%	'	
	
[1] 10	�������	 [2] 15	�������	
[3] 20	�������	 [4] 25	�������	

  ��#�� What percentage of the total number 

of members of Lok Sabha can be the 

total number of Union Council of 

Ministers ? 

[1] 10 percent [2] 15 percent 

[3] 20 percent [4] 25 percent 

����� �����	 ���	 � Z��
	 �
�
������	 ��-F %]��
�	
����
�
���	��	�).�).�).�).				����
"E�	)%	�	
	
[1] �"+*@��F���� �+*F���6+ �
�F� <��
	
	
[2] ���� �+*F�"+*@��F���6+ �
�F� <��
	
	
[3] � <��
F���6+ �
�F���� �+*F�"+*@��	
	
[4] ���� �+*F�"+*@��F� <��
F���6+ �
�		

  
����� The correct chronological order of 

following geological structures in 

India is : 

[1] Cudappah–Dharwar–Gondwana– 

          Vindhyan 

[2] Dharwar–Cudappah–Gondwana– 

          Vindhyan 

[3] Vindhyan–Gondwana–Dharwar– 

          Cudappah 

[4] Dharwar–Cudappah–Vindhyan– 

         Gondwana 	

����� �������/	��	�"G	(1565)	� ��
��	�����=�	
� �	�����	���	�+*�	���	&��	'	
[1] �������6+�	 	
[2] �.���"�	
[3] 
)��
��	 	
[4] ���"�;�	���.	

  ����� Battle of Talikota (1565) was fought 

between Vijayanagar empire and : 

[1] Golconda  

[2] Bijapur 

[3] Ahmednagar  

[4] All of the above 



 ������� ������

��	�
��
���� � ���������

� ��� �����	C��+*��	
�<����
	��	��%��
	�
�
������	
���	��	��
	$&��
���	��	��1/2.�	�����	$&�����	
�.	�7�	&�.	'		
(i) ����"�	 (ii) �����	
(iii) ,%��"�	 (iv) �����	
�-/	��-/	��-/	��-/	�				
[1] (i), (ii) � � (iv) 

[2] (i), (ii), (iii) � � (iv) 

[3] (ii) � � (iv) 

[4] (ii), (iii) � � (iv) 

  � ��� At which of the following places was 

the national government established 

during the Quit India Movement ? 

(i) Tamluk (ii) Satara	
(iii) Faizpur (iv) Ballia	
Code : 

[1] (i), (ii) and (iv) 

[2] (i), (ii), (iii) and (iv) 

[3] (ii) and (iv) 

[4] (ii), (iii) and (iv)	
� ��� ��3�6�	 �����	 �.	 ��)��	 �<�	 ���7;���	


��7�	����.	��;�	&�.	'	
[1] � 16�"	 [2] ��� 	
[3] ��^�	 [4] �H16�	

  � ��� Female saint of South India, Karikkal 

Ammaiyar was the devotee of : 

[1] Vishnu [2] Shiva 

[3] Brahma [4] Krishna	
� ��� � � 	:�����	���X
	�.	$&���
�	)"7�	�	

	
[1] 1	�
 �.P	1994	
[2] 1	�
 �.P	1995	
[3] 1	�
 �.P	1996	
[4] 1	�
 �.P	1997	

  � ��� When was World Trade Organization 

established ? 

[1] 1 January, 1994 

[2] 1 January, 1995 

[3] 1 January, 1996 

[4] 1 January, 1997	
� ��� ���
.	 ���	 ����	 7��7�	 ?����A	 ��	 ������	

����	���
�	��	���	����	����	&��	'	
[1]  $5	 [2] ��-��	
[3] ����	 [4] M�
8 	

  � ��� The measuring unit in Germany 'elle' 

was used to measure : 

[1] Cloth [2] Land 

[3] Weight [4] Density	
�  �� 
.��	 ���	 ��	 � �!����	 ���	 ��	 �).�).�).�).	 ����	

�"�
�	�	
[1] �/)�.	�����	F	/����	
�.	
[2] �����+*�	�����	F	����.�&�.	
�.	
[3] ��� �+*	�����	F	:���	
�.	
[4] 9.��%��	�����	F	_16��	
�.	

  �  �� Choose the correct answer from the 

options given below : 

[1] Tehri Dam – Tons river 

[2] Bhakra Dam – Bhagirathi river 

[3] Lakhwar Dam – Vyas river 

[4] Srisailam Dam – Krishna river	
� !�� �
�
	� ��	���������	��	 D̀��7�	��	M�/��	E�	

���	�).�).�).�).	

"E�	)%	�	 
(a) ���
����	
(b) ��(+� 
	
�($/�
	0��F24	
(c) 
���� ��	
(d) 
<��	�� .	
[1] b, c, a, d [2] b, a, c, d	
[3] a, b, c, d [4] a, c, d, b	

  � !�� The correct descending order of the 
height of the mountain peaks as 
given below is : 

(a) Kanchanjunga	
(b) Godwin Austen (K-2)	
(c) Nanga Parbat	
(d) Nandadevi	
[1] b, c, a, d [2] b, a, c, d	
[3] a, b, c, d [4] a, c, d, b	



����� �������

��	�
��
���� � �

� "�� �����.���	 ��	 
��H8 	 ���	 �)"�
	 ����	 ��/.�	
��	�X
	��	����	���	'	
�
[1] 1986 [2] 1987 

[3] 1989 [4] 1984	

  � "�� When was the Bahujan Samaj Party 

formed under the leadership of 

Kanshi Ram ? 

[1] 1986 [2] 1987 

[3] 1989 [4] 1984 

� #�� �
�
�����	 ������	 3��5���	 ���	 ��	 ��%
F��	 3��5	
�������	 M��/.	 ���	 
 �$&��	 )%�	 '	 
.��	 ���	
��	�-/	��	�).�).�).�).	����	�"�
�	�	
(a) a����	 (b) ��
.���	
(c) ������%�.	 (d) ���)���"�	
�-/	��-/	��-/	��-/	�				
[1] b, c, d [2] b, c	
[3] a, b [4] a, b, c	

  
� #�� Which of the following coal areas are 

located in Damodar valley ? Select the 

correct answer the codes given below : 

(a) Jharia (b) Raniganj	
(c) Singrauli (d) Sohagpur 

Codes :				
[1] b, c, d [2] b, c	
[3] a, b [4] a, b, c	

� ��� $ ��5	�����	��	��&��	� ��	��5.	&��	�	
	
[1] 
��>	��>	��>	��O.	
[2] �.>	+.>	�����"��	
[3] �������.	����7�	
[4] ��>	�
>	�)"�"6��		

  � ��� Who was first Finance Minister of 

independent India ?  

[1] R. K. S. Chetty 

[2] C. D. Deshmukh 

[3] Morarji Desai 

[4] H. N. Bahuguna	

� ��� �����	 ���	 = ��	 ���;�	 �8���
	 ���	 
��6�.	
�/.�	3��5	)%	�	
[1] ����	�/	
[2] �������	�.	���+*.	
[3] �<
��	�.	���+*.	
[4] ����.	�����	�/	

  
� ��� The leading coastal region in Tidal 

power generation in India is : 

[1] Kerala Coast 

[2] Bay of Cambay 

[3] Bay of Mannar 

[4] Uttari Sarkar Coast	

�!��� �
�
	���	��	��%
F��	�"�����	
).�
).�
).�
).�	)%	'	
	

				 0
�.40
�.40
�.40
�.4				 				 0�)���	
0�)���	
0�)���	
0�)���	
����������������DDDD4444				

[1] ����	 F	 M��M���P	/����P	��
	

[2] ����	 F	 �
��P	���.�����P	�3����	

[3] �������	 F	 ��)<�P	�"�������P	������	

[4] ��^�"5	 F	 �+����P	����)�P	��)���	

  
�!��� Which of the following is not 

correctly matched ? 
	 (River)     (Subsidiary Rivers) 

[1] Ganga  – Ghaghara, Tons, 
 Ken	

[2] Chambal  – Banas, Kalisindh, 
  Shipra	

[3] Damodar  – Rihand, 
Tungbhadra, 
Manjara	

[4] Brahmaputra – Dibang, Lohit 
Dihang	
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���� 	� ����� ���E�	�	���)����
������	��&+������+���"2��E���%�������&�������"2��E��� �	+������)! <�$����$E���"�����"$��B��6�=�'�.� �&��	�$�
)! <�$�����&���$�����"2��E���%�������"2��E����"$���	+����� "������#�+'���	�
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������	��"$������� ��"��)���� "�)�1�%��������	��
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������	����� ����������2<�������
������	����� ����������2<�������
������	����� ����������2<�������
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